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The effectiveness of Rock phosphate increases in

A)
(B)

D)

(E)

Alkaline
Neutral
Acid
Dry .

Answer not known

urevCul urepuller Ceweum)

)
®
(©)
D)
(E)

A compound containing a single primary nutrient is called -

A)
B)

(E)

GNISSEenLOU|enL W
BHHlenaenioujent u

S ESeTanOUEnL L

- aupeTL

efenL Qgflwaeidene

Compound

Complex

(D) Mixed
(E) Answer not known
@G psFDD
cuanaL (S8 Geumd
A)  &L0
B) vosml®
©) GCprg
. (D) seome

v QzMwaidena

wairenileh iflsM&@Ln

568 Qeram_ @rrewer Gefogams

: fertilizer
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8 Whité bud of maize is due to deficiency of

(A)
v
(E)

Fe (B) Mn
Zn (D) Cu

Answer not known

wéans Carergdlen Geuetaner Gwm_ () ererug @ger LHDTEEG®D
(A) Fe _ (B) Mn

(C) .2Zn - - (D)y+Cu

(E) o&len Qsflwelidvenew

4. What is the formula for Residual Sodium Carbonate (RSC)
\() (Cos+HCo, ) - (Ca? + Mg?*)
®  (Co, +HCo, )+ (Ca? +Mg>)
© (ca*Mg*)-(Co, +HCo, )
@  (ca®+Mg*)+ (Coy +HCoy7)
B Anewataicon
ergsBius Gempuid smiuGar:. (RSC) eremser @i wins?
@  (Coy+HCoy )~ (Ca® + Mg**)
®B) * (Coy " +HCoy" )+ (Ca® +Mg**)
(©  (ca® Mg*)-(Co, +HCo;)
@) (Ca®* +Mg?)+ (Co,+ Hcog‘)

(E) dfler Qsflweldanew

AAOD/2021 4



Organic matter make upAdEnt % of soil volume

Jﬁ

12
‘ (C) 25
(D) 38

(E) Answer not known

 awentlédy ——— % sarsans (Volume) g{@gsau@un@df L6 Qewudlng
o oo ) : ;
(B 12
© - 25
(D) 38

(E) &llen @g,lﬂUJQS]GbGU)GD

Cation exchange capacity of Kaolinite is
(A) 8-100 Cmol (P*) kg!
(B) 15-40Cmol (P") kg™
_ J 3—15 Cmol (P*) kg™ |
(D) 10-—40 Cmol (P*) kg™
(E) Answer not known
sCurellenar’ saflo cuamsuder G e wefl Lflonhpsper
(A) 8- 100 Qs.Gwre (P*)/&Cer o
(B) 15-40 Qs.Gure (P7)/&Gar
| (C) 3-15 Q&.Guwmed (P*)/ai@qm
(D) 10-40 Qs. Gure (P")/HCem
®) e Apfueiome
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7.  Brown colouf of soil is due to
(A) Clay humus complex
(B). Titaniferous and Magnetite COmpo'unqd
M Organic matter and Fe oxides
(D) _ Humus and Quartz

(E) Answer not known

ms&mmﬂmé vy (Brown) fipgeas Garhluiug wig ?
(A)  safl L&S aaxLi__émmuq '
(B) IGU}L_L'_L'_I'I'GHﬂQtJG'GT'U wHpb GuoseareaLL Geiriotd
(C) @mssn Qummer wWHDIL GEHbY Qbésas)&@

D) w&E wHYL Geumi_av

(E) d&fleor Qasfueidene

8. .The volume composition of soil which gives optimum condition for crop growth is
45% mineral mattéf, 5% orgémic matter, 256% water and 25% Air
(B) 50% mineral matter and 50% organic matter |
(C) . 25% mineral mattér, 25% organic rﬁatter, 25% water and 25% Air
(D) 40% mineral matter, 10% organic matter, 25% water and 25% Air
(E) Answer not known
uuﬁlﬁmmﬁéﬁ«%@g Caeneuiimar o eiranflan wéfwwrer preng LGHsalldar oiLs66 sagsar
(A)  a5% saflnéssgl, 5% sfwéesgl, 25% i, 25% asfrﬁ;gn
(B) 50% saflnéssg, 50% sflnssss .
(C) 25% saflosessl, 25% sflvsssg, 25% Bir, 25% arpm
(D) | 46% saflnéssg), 10% sflnéesg, 25% b, 25% sTHm
(E) dfle Qsfluciéene :
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9,

10.

The economical part of clove is

(A) Seed =3 (B) Opened flower
M Unopened flower bud (D) Bark

(E) Answer not known

Egmbidled, —————— omieuenL Qeuwtu’ @ eefls fHwns pbwred B&ruUBSemmg

Ay dleng (B) &9fips werrser
(C) eflwrg y Qur @ D) wruure

(E) d&lleor Qsflueldeme

Match the folldwing correctly :

(a) Pepper I Zingiberane
(b) Ginger 2 Eugenol
(¢) Clove 3. Sabnane
(d) Nutmeg ' 4.  Piperine
J (a) (b) .. -

4 1 2 3
B) 1 2 4 3
(C) 2 1 4 3
D) 3 2 1 4

(E) Answer not known

EQu 2 araraupany efluns QurBSEs :

(a) Serg l.. el sl GuiGryeir
b)) @eé 2. wearmed
() &gmby : 3. &uCGarenr
(d) srdssmu : 4.  eurCGulrer
(a) (b) (c) (d)
@) 4 1 2 3
(B) 1 2 4 3
&) -2 - 1 4 3
D) 3 2 1 4
(E) eflev QsMlweicrenad
7
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11.  Cultivation of trees for the purp.osé of science, education, recreation and landscaping
is known as

(A)  Silviculture
Arboriculture
(C) Olericulture
~ (D) Floriculture '
(E) Answer not known
séell, oflEgpesmand, QurgICuTsE LHPID BiPG CHTLLBSEHESTS WIBSMET QUATTEELD
- elgpeprar ugtear Afley ergl?
A)  Sedssdsar
B) yiCurfssaar
© pofsswst
(D) uCermféseer

(E) e&fler Qzfwelldvanaw

12. Crossondra is commercially propagated through
(nl Rooted cuttings | '

(B) Grafts
(C)  Suckers
(D) Bulbs

(E) Answer not known

auafsfflwns sasrburb ———— b LETLELGEESD aluluEEDS
(A)  dfleng wpmid CeurellL G&Slser

B) @Lpsipse gpabd

(C) usssdleersdr ppald

(D) Slyrugser aped

(E) @&fen Qgflwelldvene

AAOD/2021 ) . -



13.  Which chemical is used to control sprouting in potato during storage?
| w - Maleic hydrazide

(B) Ethrel

(C) Auxin

(D) Malathion

(E) Answer not known

o mavars Slprig Cellsen Qumys) q;_m_n@m p@eriys geareweaw s HULOSEILD

@remwanT QurmeET 6rg) ?

A) s c;m_m)t'_gm&(a

B ashre

(C) = sélar

D) wresdwuer

(E) o9eni anﬂu_ieﬁ]sbma}

14. Which is the most serious pest in Turnip?
J Aphid |
(B) White fly
(C) White grab
(D)  Grass hopper

(E) Answer not known

| Lireflude Bseyid Sefiyorar ush org 2
A) sisedaf
B) Qeudrener rr
(C) - Qeudrenar Sty
D) Qe ps fefl
E) oo Osfusidma

- . g AAOD/2021
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15. Mango variety suitable for high density planting is’
I (A) Neelum Amrapali
(C) Rumani (D) Banganapalli
(E) Answer not known

SILT BLa&@E e .&5hS T Qs

(A) Bown B) sibyume
(C) e | D) ukserLdTef
(E). eflen Qgflwelerens :

16.  Less seeded variety of custard apple is _
(A) APK-1 ' (B) Balanagar
(C) Mammoth | M Arka Sahan

(E) Answer not known

GODHs Seey dl@ssmar 2 @ E55TL LY QTSD 52

A ¢.9.Cs-1 ° - B unepsi

© LDLbCSLoer (D) eiftssn snanen
E) o Gsfudoms £

17.  Fruit type of pomegranate is _
(A) Berry (B) Drupe
(C) Pome = d Balusta

(E) Answer not known

LrgeneTudlen U auend Wwimg)? _

(A)  Qui : B) Lepu
©). Gumb - D) iaacr
(E) e&fleni Gg,rﬂmaﬁ]d}m@ : |

AAOD/2021 | 10



18. Chemical used for seed extraction in Tomato is

(B) HNO;
(C) HaS04
D) CaCly

(E) Answer not known

saarefl Lifled s 9MN508HEs LweTLRSsSLILEHL CeudQummer
A)  aan Cyr GCarmfls <l

(B) eprfls oo

(C) esoyfs oblend

D) sroHwub @Gmrrsmly@

(E) oflen Qsflweférened

19. Breeding tool utilized for hybrid maiza seed production is
(A) Hand Emasculation and pollination
(B) Cytoplasmic Genetic male sterility

©) Genetlc male sterility

w Detasseling

(E) Answer not known
waaETEGsTaTsdd solber 2 HusdsE LweTu@b @grr@da HILULD
A  amew fad, LaTHEE Cunbans Qeiiausemd
B) lraussais wHAwd e WL (HS SeTEnLD
(C) wrwuéd e vl (iF ST
D) e sdi Béssd Qavieusmed
(E) ol Qsflweiidoena

e | 11 AAOD/2021
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20.  Which seed part forms the shoots of young seedlings?
(A) Radicle d Plumule
(C)  Scutellum ' (D) Hilum
(E) Answer not known

efenguller erliumaid @erid prHdler SaTLTs o (Heurdng

A  gpeaerGeur B (PNETES(HSS
(C) dvamlQLéevid D) ess8 s1pbY
(E) &fen Qaflwelldvenay .

21.  The term mutation was introduced by :
(A) Bateson : MHugo de vries
(C) Muller : (D) Stadler

(E) Answer not known

#0\& wrHobd sré&rm Qardene psedled 2 (meumddlweui wimi?

(&)  Cut aver “ B) SHwCsr 1 aAfav
C) @peeir (D) oL it

(E) “eflen Qsflweflcveney '

22.  Storage organs of ginger and turmeric are
" (A) 4 Tuber ' (B) Bulb
Rhizome _ (D) Corm
(E) Answer not known '

_ B8 whpib wEEEET gﬁmmm@m Cafliiy 2 milIseT cTanau ?
@) Sygns | . B) &bpw
(C) seyoliLs g,aﬁaT@é; EAMLATC (D) YD eugerar Hlassar® s
(E) oflenr Gsflwefdene

AAOD/2021 12



23.  Which cytoplasm in rice is most widely used as source of male sterility?
' (A) CMS-BT '

(B) CMS-Chinsurah Boro IT

@’ CMS-Wild abortive

(D) CMS-Red awned wild

(E)  Answer not known

GApielled e LOLOF FET@D JELEDET 2 (HeuThs s s LwEaTLESSILIED

@& GLmarmad erg)? '

(A)  Aerereiv—19g

B) Aeerev— Hersyr CunCyr 11

(C)  Aeriberav—anaudl. SiLITL g6l

D)  Serberav-Asiiy eumO@BD (aauedr)

(E) oo Qsflweldemer

24.  Pure line in homogenous population
(A) :  Occurs in self pollinated crop. _
(R) : These are progenies of a single sell fertilized individual.

J Both (A) and (R) are true and (R) is the correct explanation of (A)
(B)  Both (A) and (R) are true and (R) is not correct explanation of (A)
(C) Both (A) and (R) are false
(D) (A)istrue and (R) is false
(E)  Answer not known

safleufls Qafey @&mg u'uﬂ]r'r(;]g,rr@uq RES SO 2 MLWISTE @) (H&@ELD
(A) : @a sar warpss Corsms LWlTsele sremiLFILD.
R) : Q3 @@ Asgular gar waTHes Coisams QsrarL LWfdr shsHusi.

A @A Log)guu: (R) @[IGHUT@LD arﬂu_irrezrrsmu Cogidb (R) (A) psrar sfwrar
efler&snEGh -

B) @A) wogw (R) @Um@m sflurenewey amed (R) (A) edmsrer efwmar
GTEHLOD

© A vpogd (R) @ranrpin seuprarena
D) (A sflwreng yemedr (R) seuprarg
(E) eflen Qsfweldenew '

- ' 13 - AAOD/2021
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25.

26.

217.

@ 1.0 _
(€ 038 : D) 1.33
(E)  Answer not known ' -

Respiratory Quotient for fats is '
\ﬂ: 0.7

Qamupuy e awey urmLseEnsanar seurns el (RQ) ereueuaray?
X 300 0 (B) 0.7

€ 08 : D) 1.33

(E) &llen Qzflwelldvensy

Development of embryo without embryo sac i1s called as

(A) Apospory (B) Parthenogenesis

Adventitious embryony (D) Diplospory
(E) ~ Answer not known :
eufiGur Ges Qaamod aarmb abufiGur weap iy mpssiuhéng ?
Q)  @uCurevCurf _ B) unisHGarm Qmafeaie
C) sileadneadluen erbufwred D) yuGamevGumfl
() oflevr Qzfwellevensy

Name a new crop developed by crossing Triticum aestivum x secale cereale

(A) o Raphano Brassica (B) Brassica Oleracea

' Triticale : (D) Triticum dicoccum

(E) Answer not known

g A ig &b Fevigeud X £5Cse ENCW Qeream( &@mrré;a;ljuf_t_ uuQir erg?
(A) guCermriCGrélam (B) qué]a;(r eaGré

(C) f_rﬁmré;@a;eb (D) Al igsbd oLsETEsD

(E) oflen Qgflweieana :

AAOD/2021 14



28.

29.

Rice blast is characterized with

(A) Spindle shaped spots with brown margin and grey centre on leaf alone

(B) Spindle shaped spots with brown margin and grey centre on leaf and nodal
discolouration
Spindle shaped spots with brown margin and grey centre on leaf discolouration
of nodes and neck of panicle _

(D) Spindle shaped spots with brown margin and grey centre are noticed on nodal
region alone

(E) Answer not known

Aped e Crmuller Epasramid sifl@daedr CorarmLd

A)  uwuy A sear ageu Yarallsdr Qaesaie @b srerriL@id :

B) uvwuy fp ser euge ydeallsdr @aosefiey wHmID a;@ésaserﬂm &L BHlo

et IL (b

© uvyuy Ao ser agel yerellaer, Qaaselie Caramsd, sassdr wHnD Qped

werflller sWsHIL LEGH SEHLILITE STETILED
D)  uvwuy fip sar eugeu yeraflsdr sgnissaiien wIHWL sramiLGLD
(E) &fenr Qzflweldvena

Consider the following statement and choose the correct combination

£ > Sulphur is the oldest fungicide used in plant disease control.

II. Sulphur is a contact and protective fungicide effective against powdery mildews

and rusts.
(A) () is wrong and (II) is correct J Both (I) and (II) are correct
(C) (@) is correct and (II) is wrong (D) Both (I) and (II) are wrong

(E) Answer not known

SpsearL cursdunsamer sauallsg sflurar Qurmssnsaea Caib0sEH

I  graug Cpmi s @ourigd vweau@ssulL Qgrarmwwurear LsansQsTae Fouir
GTEITLISMT(&LD

II. Q@ wpgd urgsTiy ygsers Qsrddlurar sour CGuodsmbud wLHNIL SwH
Crmiigs e, adlyrang).

@ @ paug (1) & B) @O womo JAI) &

©) @ a&f JD) soup D) @) wpgid (D) seug

(E) oo Qzflueidenaw

15 AAOD/2021
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30.  Fruit fly pupates in

Soil
(B)  Fruit
(C) Leaf
(D) Stem

(E) Answer not known

ULp FF&SET GTTRIS, ahsaisr@q@. Blened ienL_uwb?

(A) weir
B) upwb
©) Qoo

D) s G uEH
(E) e&fer Qsflwelerensd

31. " Which is the most destructive pest of grape vine in India?
(A)  Thrips '
Flea beetle
(C) Cutworm |
(D)  Whitefly
(E) Answer not know-fn
@pduwreiler Hrriens Aamgew s Hs sareld CosliLBEss snig LSS g ?
@A) @eow Cuar ' :
B) Bds@b e
(C) GQa® yw
(D) Qeudrenar

(E) e Gsfwusdeame

AAOD/2021 16



32.

33.

Thiamethoxam belongs to which group of ‘insecticide’
(A)  Pyrrole insecticide
Neonicotenoid insecticide
(C)  Oxadiazine insecticide
(D_)' Pyrazole insecticide

(E) . Answer not known

@pUTSEsTEsD aps ams LEds Csradawu Ceipsg 2
() wLCine yHEEGsTsS =
®B) HCurfsCamgami LsflsQaTd

C) severwrélen YiHsEsmdel

D) eugrGere L&dsQsmae

(B) &fen Qzflweildenew

The proportion of habitable space from which insert counts are taken is .called as
(A) , Sample |
J Sampling unit
(C) Sampling technique
(D) Sampling program
(E) Answér not known
E-2) wn@Lﬁl Lodlar L@haE appriGured epdler aarmisomsmu sars@sEULS
T8 ?
A)  wrdf
(B) . wrdfl ses
C) wrdfl wep
D) wrdfl Aspss
(E) oL Gsfuddams

17 AAOD/2021
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34. What are Insects?

(A)
(B)

\%

(E)

An invertebrate animal capable of flying
Segmented arthropods ' .
Breathe by means of tracheae

All the above

Answer not known

UFHSET GTETDTE) 6TEIE ?

(A)
(B)
©
D)
(E)

W&&QsIbLSdor upsEGL Yymeant

2 Lpsmm Gf&sILICL .%r'rg(?qnum_'_;a;@
APFSHESPML ppLD sFaurdls@h Slymenf
Cupamdu emarsgid =

eflenL QgMweildena

35. Indicate the wrong statement

A)
B)
©

(E)

Sugarcane is a C4 plant
Sunflower is a C3 plant
Pineapple is a CAM plant _
C3 planfs are monocotyledons

Answer not known

seuprar smsHeard s\ _igSETLL 6D

(A)
B)
(©)
D)
(E)

AAOD/2021

sy @@ C4 sTeuron@id
@rﬂU.Jé;ﬁ;‘f;ﬁ e C3 sreugmgLd
senanrdl g CAM greugwm@d
C3 g;rreuqr&asm erebamd g ellegullerad STeurmEaTm@GLD -

eflenL. QgMweildena

18



36.

37.

Dapog method of raising nursery was introduced in India from
(A)  Australia (B) America
Philippines - : (D) Srilanka

(E) Answer not known

FHLOUTd proprasred @bdwurelne emdmhg SDWsILBSSILL L g
A) evdCrellum I (B) <=Qufssr

(©C) Qellenuemei D) geonas

(E) dlenr Qsflweierane

The pre-emergence herbicides recommended for ground nut are
Alachlor
Pendimethalin

Diuron

ot o Gkl o

Atrazine

(A) (1), (2) and (3) only
(1) and (2) only

(C) (1), (3) and (4) only

(D) (1), (2) and (4) only

(E) Answer not known '

foss oo L@BEEG ulbs@rssiudd dosss UDE oaeEh ey OsalsEn

smeré&QaTadlsdr erar dlutiu@uee
: &mng@mnfr

2. Queirig. Qo ggmedl e

3. L TTes

4. au_rjamﬂm

@) (1), ) wpmd (3) LLEW

B) (1) wpgid (2) wLED

©) (@), (3) whpmid (4) LG

D) (1), 2) wppd (@) L ED

(E) &len Qzflweiidensy

19
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38. The moisture content of the soil attained after the drainage of gravitational water is

kngwn as
J Field capacity

(B) Water holding capacity

(C) Permanent wilting point

(D) = Moisture equivalent

(E) Answer not known

yellmiy B euqbs Ger wemanfldr @BEGL FrSHer erellevar BT  eTeueUT)
GSOLARECmDd 2

Q)  auwe i Qsrardmer

B) B Qsrardmenr

(C) Hypsy eurLed Hleve

(D) rmyéewer :

(E) oo Gsfuadoa

39.  Calculate the amount of water for schéduling irrigation at 0.5 1W/CPE ratio with

10 of CPE for each irrigation
jﬂ 50cm

(B) 50.0 cm
(C) 5.0mm
D) 8.0cm

(E) Answer not known -

pivuurser LBl gis@ 1W/CPE e werey 0.5 wigito CPE wietey 10.0 Q&8 eraflad
@@ bruursarsfhE Comeuwnar sieTene sarLHs

A) 5.0 Q.8
(B) 50.0 Q5.8
(C) 5.08.8

D) 8.0Qs.8

(E) eflenL Glg,rﬂu_leﬁla')mw
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40.  Calculate the net Irrigation requirement of a maize crop for effective root zone 5 cm
B.D. =2.15 g/ce, FC = 28%, PWP =11%

1.8 cm
B) 28cm
(C) 3.8cm
D) 48cm

(E) Answer not known

wéstE Gerer uwifler fley S unser Camamu sarsdds. Goulr LwELT R u@S
5 G&..5 B.D. = 2.15 gl/ce, FC = 28%, PWP = 11%

A 18Gsa8 .

(B) 28Qs.8
) 3:8Geb

D) 4.8Qs.8

E) ole @g,rﬂu;laﬁlsbsmsu

41. The plot of rainfall intensity versus time is called as

(A) Hydrograph

(B)g Mass curve
l Hyetograph
‘(D) Isohyet
. (E) Answer not known

wepdda Salisms ¢m sta wmuLsdd standsed Gos ‘ eTehTm)
S{EMLPLILITTGET.

A) @an. Cyraymy

(B) nmev siey

(C) an CLnsyr

D) gCsrevanwi

(E) dfen Qsflweferenew

= ' 21 | - AAOD/2021
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42. Match the implement with its uses .
(a) Country plough 1. Earthing up and forms ridges and furrows

(b) Chisel plough 2. Ploughing
(c) Star weeder : 3. .Sub soil breaking
(d) Ridge plough 4. Weeding in dry lands

J @ O © @
) 2 3 4
{B) .1 2 3
%) T | 3 2
D 1 4 3
(E) Answer not known

smelamenyb Seipdler Lwemur @b Qur(HSss.

I G

(@ pri® v 1 e S@ersSe LHIID LT HenD S
2 106
3lig Loair GeTsSHe

(b) &g selwu

() mLesdly senar sT@EJurrﬁT

e o

(d) urt THESGL LI wrearmerfl HlosHed semer arhHssed

@ ® © (d

A 2 3 4 1
3B 1 2 3 4
€y 1 3 2 4
D) 1 “ 3 2

(E) e&ler Qsflweliidvena

43.  Which one of the following is C, plant? [
(A) Rice : ) Maize

(C)  Wheat : (D) Black gram
(E) Answer not known

SpasarL ulisefld arpg LUAT C, cuemsow sTibsg ? _
A) Qped (B) wasrsGamarid
(C) Gangiew D) o@sps
(E) oflen Qzflwelleenew

AAOD/2021 | =L



If the tree crops are planted at a spacing of 2.5 m x 2.0 m the number of trees in a
hectare shall be

(A) 1000
(B). 1500
J 2000
D) 2500

(E) Answer not known

wruudiser 2.5,8 x 2.0 8 e Geuafide pruucLmd @m QansL Mo 2 @rar wrruui
cramenfléens '

(A) 1000

(B) 1500

(C) 2000

(D) 2500 5

(E) dflevr Gsflweferenen

Which tree crop is suitable for Marshy areas?

(A) Tamarind

(B) Amla

(C). Silk cotton
M Bamboo

(E) Answer not known

sguy flou ugdaeErsGann wremsts LT g ?

(A)  yefl

B) Qump@mpae i
©) @Qweud

D) pude

(E) der Gsflueidame

23 ' AAOD/2021
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46.  Which of the following are the advantages of agro forestry system?

y. Control of soil erosion

II. Soil enrichment through addition and decomposition of litter fall
III. Modifying soil texture

(A) 1IandIII only (B) o II and III only

(C) I, IIandIII I and II only

(E) Answer not known

Spser_eupmier ereaneu Ceuarraim cuansSlL L misaller LILIGTSET 6uaT

L. warr siflrand sH&sLUBE DS -

I1. Qaauydieiar LG Fnarmd war auerd Cuobu@Eng

III. wew pwbd WIHOD

A Iwopmod Il v : (B) II wpmw III wr @b
(© L II wpmid IIT D) Iwpmw II b @EIb
(E) &llevr Qgflweiidenaw '

47. Match List I with List II and select the correct answer using the codes given below
the lists : '
List I List IT
Simarouba glauca
Bambusa vulgaris
Bambusa Bamboo
Tectona grandis

(a) King of trees

(b) Thornless bamboo
(¢) . Thorned bamboo
(d) Tree of heaven

@ ® ©© @

IS0 B et

A). 1 2 3 4
4 2 3 1

| % T 3. 2 1
4

a1 3 2
(E) Answer not known

utiqued I oar uctgwe Iy Qurmss, ulqudseErsE SCp o drer G],srr@mﬂeﬁ]@ﬁ@
sflwrer eflewLulever Csirey Qas.

ulgwe I uligwe I1

(a) wrhisaler orge 1.  ewgwepur HGeram

(b) qper @éveor epridled 2. umbyst eudstien

(c) per epriudled 3. umbyesm UMby,

(d) Qemiés wrb 4. QL&CLrmerm Symaiy e
(a) (b) (© (d)

R 1 2 3 4

-(B) 4 2 3 1

©C 4 3 2 1

D)1 3 2 4

(E) sﬁlqm_ Qs flueidrensy

AAOD/2021 | a4 e



Which implement is used to break the sub-soil hard pan in the cultivated lands?
(A)  Country plough (B) Disk plough

Chisel plough ‘ : (D) Melur plough
(E)  Answer not known

uudlr Gevwtu@n ﬁa}g,,é,]m emuﬁlcu Bm&ED sger e .91@5@ SIDOG SMTLSs
2 L &8 Lwau@b smedl ergl?

A) pBrl@ seoveu B) &g savemu
(C) oafl swuamu . (D) Cugrir selieu
(E) dlYlevr Qzsflwaelerenen g

Match the crops with seed hardening chemicals

(a) Pearlmillet : 1. Cycocel
(b) Maize 2. .- Call,
(¢) Cotton 3. KH,PO,
(d) Groundnut 4. KCl

(a) ® © @

(A) o 1 4
./f R o 1 2
(C) 4 1 1 3
D) 3 1 2 4

(E) Answer not known :
Sparamibd Llismaryb g6 NmsE@ET SigaTliLIHESID GeugluGumpL senerd QuUT(HSss

(a) sy : ' 1. s5CaTH60
(b)  wasTEQFTETLD 2. CaCl,
© umsd 3. KH,PO,
(d) Pess o 4. KCl1

(a) (b) (c) (d)
A) 2 3 1 4
(B) 3 4 1 2
C 4 2 1 3
D 3 1 2 4
(E) eflen Gzflwefrene
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50. Growing season in ny land areas is
. w <200 dayé

B) =>200 aays

(C) < 250days

D)y > 250 days

(E) Answer not known

.x&

eupeTL Fleols LiekTeneRTUSIGET GUETIT LI(ThGULDTEE) - QararrLg).
A) <200 prser

B) = > 200 prser

(C) <250 prser

D) > 250_ BTL_geiT

E) deoL Osfludoma

51. Characters of dry land farming
(A). Annual rain fall > 800 mm
d Growing season (days) < 200
© DouBle cropping
(D) Water erosion

(E) Answer not known

Lepeng BlevF Fm@Uiquiler &erTmhiser
(A) >800 m.m LDENLPUIGTEY

B) #ngug stew < 200 B seT
©) @ran® udi srELg WD

(D) Bilermed oiflwmerid

(E) eflen Qgflweldena
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52.

53.

According to BIS (Bureau of Indian Standards) (2007) specifications the minimum
metabolizable energy requirement for the grower is

)

(©)
(D)

()

2200 kcal/kg
2500 kcal’kg

2800 keal/kg

2900 kcal/kg

Answer not known

@pdw sy Hirewrw GHNSG (BIS) 2007 @Hud@seer Ly euarr umeu Camfls Scuarsded
@m&s Geuamgw GophsLLE aearielleang wrHm erflass)

(A)
®B)
(©)
D)
(E)

2200 &.6Cemfl/HGeom
2500 &.5Cer M/ &lGeumr
2800 &.5CarM/&Cevr
2900 &.5Genl /& Geor
eflen GgMweldane

Floor space recommended for broiler in Indian broiler farming conditions is

A)

©)

D)
(E)

0.8 — 1.0 sq.ft
1.0 -1.2 sq.ft
1.2 -1.4sq.ft
1.4 - 1.6 sq.ft

Answer not known

@‘SQMWIG)SIGBT a0&Canfl uammenseil®, GCarflaeErss ufipgeorsésiupn QL  wsd

S| GTEU TS
(A) 0.8-1.0sg57 24
B) 1.0-12sg57 iy
©) 12-14s57 g
D) 1.4-1.6sg57 24
(E) cflen Qs Mwelerenc

27 AAOD/2021
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54. Exotic meat breed of goat

v g
®)
©
D)
®)

Qeopsdlsans eueTiésILRID SWOBTH QeudTerm garb

(A)
B)
©
(D)
(E)

Boer -
Saanen
Merino
Rambouillet

Answer not known

Gumwr

FTETET

QM Gerr
grbLMi®G@eL

allen Ggflwelerenc

55.  An example for ‘Pelt’ sheep breed is

(A)'
(©)
D)
(E)

‘Gue’ Gebodl o yasSnE @ e sryamrd

A)
®B)
©)
®)
E®)

AAOD/2021

Corriedale
Karakul
Merino
Polwerth

Answer not known

A [E
EMITE&D
QMGerm
Cumrer@aeurirg

aflenL Gz Mlweidame

28
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56.

o7.

Shortage of green-fodder in India is estimated to be

(A)
B)

(D)
(E)

@pduneller usbelans Gepur® @eucury wHINAN_LILGEDE
15% '
25%

(A)
B)
- (©
D)

)

)
®)
(©

V.4

(E)

ured 2 pusdssrar LT Seuarsdle
whmid Quwrss Qaflorer ssgsaer @) mss CeuamHIb ?

(A)
(B)
(©)
(D)
(E)

15%
25%
35%
45%

Answer not known

35%
45%
ellenL Qs flwelorenaw

12% and 45% respectively
14% and 50% respectively
15% and 65% respectively
16% and 72% respectively

Answer not known

wpanGur 12% WwHmID 45%
wpeapCu 14% WwOHMHILD 50%
penCus 15% wHMID 65%
wpapCuw 16% wHOILD 72%
allen Ggflweleene

29

What is the minimum Digestible Crude Protein (DCP) and total Digestible Nutrients
(TDN) in concentrates for milk production?

GOPHSULFD ereuaueray Gaflomer séET YU&Lb

AAOD/2021
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58. Maximum number of cattle that can be housed in a single - row

Jlo

B) 20
(C) 30
(D) 40

(E) Answer not known

- @m afles ewiy QsrarL wr (g Asreausdled Hnsssemiqgu fsiul s wrhHsefler

cTaTeRTlG NS

@ 10

®) 20

€ 30 :
e e '

E) e Qsfwueldema

59. - Cross breed cows sexually mature by ——————— months of Age.
A 12
- B) 14
(€ 16

S s

(E) Answer not known

suder ussser @aTuQUEES WHTESH g DL UjD ——————— ISBIGET
@A) 12 |

B) 14

© 16

D) 18

E) oL Asfuddaa

AAOD/2021 - 80 e =



60. How much is the contribution of livestock sector to the total value of output in

agriculture?
(A 10.4%
B) . 19.7%

25.6%
D) 31.2%

(E)  Answer not known

Gorgs Geuermam 2 Husduier sropensafler Ly ereucuereuns 2 drarg ?

(A)  10.4%
®) 19.7%
(C) 25.6%
D) 31.2%

(E) &llevr Qaflweidvenaw

61. Thegvitamin helps for blood clotting is
j Vitamin K

(B) Vitamin E
(C) Vitamin D
(D) Vitamin A

(E) Answer not known

Qusd 2 ops@s@ 2geil yfluyb el Liller og?
(A  eeLler K .

B) eeal e E

(C) eeauLblar D

D) eeul1fer A

(E) dflenL Qaflwalerana

e : 31 AAOD/2021
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62. The and — are the primary causes of acid rain.
(A), COzand SO '
SOz and NOx
(C) CO and NOx
(D) C2H4and CH4
(E)  Answer not known

Sifloweawss weslwu srraflser <,euar LHDILD
(A) CO:z wpmitb SO '

B) SOz wpmitb NO« |

(C) CO wpmid NOx

(D) CeHs wpmbCH4

(E) dllen Gsflueicrensy

63. = Photochemical smog pollution does not caused by
(A) PAN (Peroxy Acyl Nitrate)
(B) Ozone :
(C) . Nitrogen dioxide
Carbon dioxide

(E) Answer not known

eefiGaudulue valyms WTELITL L THUOESTS QUTHET 6T ?
A) - Quyrsd semed enpl Gy

(B) Cemen I

(C). MBLTRET L D&MD

D) sflude éJrru.I

(E) &l Qsflwellévena
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64.

65.

Name the term which denotes the transfer of food energy from one trophic level to
another

(A) Food web

: d Food chain

(C)  Energy flow
(D) Food storage
(E) -Answer not known

R Gphloe wvarwsdd 2ame o uflamsaiar o cramse, &mwuu@g,mmum
GTGUGUMMI SnDEMLD ?

A) o ame oo
B) o.awrey smdled
©)  <ppé wrHpL

(D) oewey Cséabd

(E) dlavr Qsflwueldeme

What is the percentage of water on Earth that is available as fresh water?

A) 0.5%
2.7%

©) 9.8%

D) 27.2%

(E) Answer nof known

|Eg,ufﬂu5]m 2 drar Qurgs Bl ereueuerey spailsid paraiyms &GTG\TQI?

A) 0.5%
B) 2.7%
©) 9.8%
D) 27.2%

(E) dleor Qsfludioame

33 AAOD/2021
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66. Flat plate collectors are used upto a temperature of oG
J Less than 100°C
(B) 100-175°C
(C) 175-250°C
(D) 250 -350°C
(E) Answer not known
Germ  GGar. sesLismer ———— Qeuliuflena mmqumﬁ s_ucmnaréjas@é;@
LweTU(HSS (Pl LD
(A) 100° QedlwevsE, G Dnelns
B) 100-175°C
(C) 175-250°C
(D) 250 -350°C
(E) &flen Qzflweiidanew

67. Average conversion efficiency of the most commercial silicon solar cell is ———%.

@A) 10

M 12_

(C) 18

D) 20
(E) Answer not known

sheosle 2 dar oifs Adsrar ams Gilu Weags yer syrefl oHpe wIHDID. Sper

&L — FgeBib.
A) 10
B 12
(C) 18
®) 20

E) oL Asfucddma
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68..

69.

Identify the renewable source of energy from the following

(A) © Natural gas
(C) Coal

(D) Liquified Petroleum Gas (LPG)
(E) = Answer not known

Producer gas

Spsar_aupmer o UgILNEsS 568 Thlesd euerd?

@) @upes aflamy
B) wlyriwer eumy
©€) HPaessh

(D) sewwe erfleumy

E) e OsMwcidema

Chicks are vaccinated on first day for the disease

(A) Ranikhat
(B) . Fowl chlorea

M Marek’s

Infectious Bronchitis

(E) Answer not known

Spsramid  Crmiusafed Camfls

SaflssLiupSleamg.
A Qrrenflss Crmi
B) Camfl sreyr Crmi

TEDS

(C) wmy&ev Crmi
D) @eaEusadluey Gyrémsigey Grmi
(E) e Qzflwelcrena

35

GEOFEEES  (PHD

shuyd

BITerT

AAOD/2021
[Turn over



70. Ths Green leaf manure that consist of 4.6% K20 content on an average is

Gliricidia
(B) Pungam
(C) Neem

(D) Calotrophis

(E) Answer not_known

o8& groue ssdenar (Camymuwrs 4.6% Ke0) Qe USBSTET 2 Jib

(A)  ACarfun

B) uymsd

(C) Geudy
D) a@ée

(E) &fen @glﬂu_le{ﬂshanm

71. Rapid multiplication of disease free plants in a short period of time is possible byl
(4) Budding '
(B) Grafting
(C) p Cutting

J Tissue Culture

(E) Answer not known

Spsam_eupdle waplie, Gpdu stasded <fs mmmﬂ&w&u&]m Crmupy Qagsemer
o Hugd Gaiw apguyb?

A) e @G

B) @ b s ps®

(C) Qeul(@Ps siamHs6r

@) s asarivny

(E) e Asflueldme
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72.  What is the dosage of sulphuric acid recommended for Acid delinting is cotton?
(A) 10 ml/kg of seed
(B) 50 ml/kg of seed

’W 100 ml/kg of seed
(D) 200 ml/kg of seed

(E) Answer not known

UGS eflenguier Lgss Hés LNpgI@IESILEDL BHss @uﬁ]é)ggﬁlsiﬂ 6T GTETEN?
(A) 10 8.6 /8Cer elensss

(B) 50 8.69./8CGavrr Meng s

(C) 100 18.60./81Geom eflengiss;

D) = 200 8.6/ 8Cer Amsis

(E) olen Qsfweldmena

73.  What is the name of fruit in Castor?

(A) Spikelet

(B) Achene
d Capsule
(D) Pod

(E) Answer not known

e Lulilfler L ereuciTy Si@ssLILEEDE ?
A) sdradear
B) Qeaugwr é_a)frésasaﬁﬂ
(O sallsmp/smu Qurduen
@ @ up Gagsa
(E) oo Gsfweicena

e 37 | AAOD/2021
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74. The Ratio of Raw to Dehyorated onion is

A) b6:1
B)- -l
' d 9:1
My-—-—12:1
(E) Answer not known
o @i Qeumsmubd surfudd poLAUTHEBESD e QeuisTusdH@d  26rar
ellflgrégnyd ereier ?
(A) 6:1
) =Tk
(C) - 9:1
Oy - 12:1

(E) oleor Gsflwaelierenaw

75. Spawyn is called as
Mycelium of fungus
(B)  Fruiting body of fungus
(C) Making soil layer on mycelium
(D) Type of compost

(E) Answer not known

Spaam_cupbler sremren elgg (SLITET) eremLg) THmeT @A Semmg ?
@A)  yser Qe

(B) :'alg;ia.;sm_ Qawiwriu@b srermer UGS

©) . Guayss @O e sawama

D) @ s a@n

(E) oo Gzfwellerenew
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76. Kisan call centres were started in the year

(A) 1970
(B) 2001

2004
D) 1973

(E) Answer not known

alleusmu SjenpLiy ewwwib QFTLmsHUL L o6

(4) 1970
B) 2001
(C) 2004
D) 1973

(E) dlen Gsflwaiwvame

77.  All principles of PRA are framed on the

J’ People’s involvement

(B) NGO involvement

(C) Government invoivement

(D) Politicians involvement

(E) Answer no.t known

Eg]UﬁLES]U_I. LRELEH LHISTH Yl smasghs CerarmasEb WIHLW FHUILTE

2 (HUMESILILL G ?

(A) L& & 6T W@QH@

B) <y smyr flpeuemsaflar FEUTE
(©) s gaop FEUIE

D) <eirfwue aurdsefler FEUTE

(E) el Qg flweildene

& 39 : AAOD/2021
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78.  The central Agmark laboratory is located at

(A) Chennai
w Nagpur
(C)  Delhi
(D) Mumbai
(E) Answer not known
DSEW SASOTTE YU16|S Sal b - -6) <{EDLDHGIETETF).
(A)  Qserenar
B) prog
©) godd
® wou
(E) &flen. Qzflwelidvenay

79. Decrease in input quantity supplj even in increasing payment for it (reward) is

" possible in

¥
(©)
(D)
(E)

Fertiliser
Human labour
Seed

Machine labour

Answer not known

&@a@ﬁ@)mm@@@un@gmﬂm, THS - @ OEUTRET LIWETUTL 1q6) DISET FETOTGID 2 Wi(THLD
Curpdaib, siger alflCuTs 2ere) G@neugem FrsHwb 2 drerg ?

(A4)
(B)
©)
D)
)

AAOD/2021

2 _Jib

eflg 2 enpliy
Aeng

Qupdly 2-emply
aflenL Qs flueidame
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80. On the basis of nature of transactions, a market in which goods are exchanged for
money immediately after the sale is called

(A) Forward markets
Spot (or) cash market

(C) General markets

(D)  Specialized markets

(E) Answer not known

EHMG GUTESs pOL (P Sgliuemiuie ueard bssasul L o e Qummer ufwrHowd
BenL_GuUmID FHas PSS erem Gluwi.

(A) (L)DGBTGG?L@& FHES
- (B) erLeay uaeruflarssmens shag
(C) Qungé spans
(D)  Apuy seuear sHws
(E) olenr Qsflwelidvvenay

81. Coir Board was established during this year

(A) 1983
(B) 1973
(C) _ 1963

1.{ 1953

(E) Answer not known

Caemsmi prr eurflud @bs e Blpeutiuc L g

(A) 1983
B) 1973
(C) 1963
(D) 1953

(E)- &flen Gsflweiidvancy

&= 41 AAOD/2021
' [Turn over



82. Which of the following is correct with respect to conversion in sugarcane processing
done in India? '

(A) 85 percent jaggery, 12 percent sugar

d 85 percent sugar, 12 percent jaggery
(C) 85 percent sugar, 12 percent setts
(D) 85 percent setts, 12 percent sugar
(E) Answer not known

@pdwredle, smby uslILBSSIE® AsTidle, Spsam_ahmier ergl QewiL@ S D) ?
(A) 85 ssais Qaucvarid, 12 556s séaemy |

(B) 85 sgeis ssasmy, 12 sgeis Ceuded

(C) 85 spals sssay, 12 #56is syamen

D) 85 ssais syeerr, 12 556y s6807

€ oo Gsfuddoma =

83. Bhoodhan movemeﬁt was started by
(A)  Amartya Sen _
J Acharya Vinoba Bhave
(C) Baba Amte
(D) Anna Hazare
(E) Answer not known

ylgrear @usssas Qemmdweu SLGUTIT.
(A) swirdwur CQger

B) yFerTWT 9Carmum LTGau

(C) U <G

D) icranm anenGr

(E) oflenr Gsfluaievenen
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84. - Agricultural Informatics and Communication Network (AGRISNET) -was established

85.

on

A)

©)
D)
E)

'3

2001
2002
2003
2004

Answer not known

efleusm gaeid WHHID FEUD GHTLITLY QpLQeuris eruGuTg geumsliul L g ?

(A)
B)
©)
®)
(E)

2001
2002
2003

- 2004

efen Qg Mwefdame

The navigation system based on a network of satellites that helps users to record

posi;ional information?

(B).
(©)
(D)
(E)

Hlened

GPS
GLS
Remote sensing
All of the above

Answer not known

saaudsmer Ufe) Qelw LweTEEREEG s Geupes Garersafien

WL SgliumLwrs Ganar. el Gegssd sl

(A)
(B)
©)
(D)
(E)

LelluShued QUTBSSIFD DenLOLIL
LeMA w6 S566160 SeUiL
Qarena FlaneuBSSD
Cupamiu Siearssib

eflev Gsflweicrened
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86.

maj)s the name people use to locate a website to the IP address.

(A).  Domain Number System . |

Domain Name System
(C) Domain Information System
(D) Domain Service System
(E) Answer not known
vwarisdr e wsaflows sar@lyss vweruBssnd GQuuwey IP wsauflyer
Qurmsgibd varflerw GQsuieug SGLD.
(A)  semb ereir p@DELD .
B) seru QUi epew
(€C) semd gaﬁeueb (PEDEHLD
(D)  sanb Ceavau wewpevio
(E) eflen QsMwelcrenaw

87. - provides a single interface that enables users to search many different

search engines, indexes and databases simultaneously.
(A) Search engine
(B) : Web browser

Meta search engine
(D) Mega search engine

Answer not known

(E)

cremug) ue ofigdunswonar Core Quipdrhsd, GRluGsd wHnL sres

- Sehsmaer Lwaniser @Gy Cprsdle CsLs smipw ghop oL Wasas euhGEADS.

(A)
(B)
©)
(D)
(E)

AAOD/2021

Core Qupdlyn,
Qe 2 el

GQuirir Csd Gubdrd
Quar CsLd Qubdyd
eflen Qsfwaldeme
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— 1is used for creating numeric based documents such as budgets: or
balance sheets. - '

(A) . Word processing
Spreadsheets

(C) Database Management Software

(D) Powerpoint '

(E) Answer not known

ULLGQL; sz Cueverev” & Cumremn erer SlgUuenL ulleorar <,euemThiGmar 2 (HeUNGSGL

vweru(hissuublelg ergl ?

A) Geurr &Unacﬂr&

B)  evrl af

(©) CrrLrCuev CuCarh@uwer emiiGeurr

D) veurmuQesr

(E) eflar Qsfwelicrena

The tool in windows operating system that moves all the files currently available on
the disk to contiguous clusters is

(A)  Disk cleanup

(B) Recycle Bin
M Disk Defragmenter
(D) Explorer

(E) Answer not known

dlamGLrev  Quss epewule, sHCuTgETer UGS 1960 2 6TeT  DDATEHF)
Camiysemarub Qgm_éflwner derevL is@5sE peTSEID B U 618 ?

A) wevs Hefers ' &
B) vmspHd Qer

(C) gevs golAgraEQuenCLger
D) ersevyGarmyi .
E) oL Asfuomn
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90. TUSB refers to

(A) Universal Sequencé Box
(B) Unique Serial Bus

W Universal Serial Bus

(D)  Universal Storage Box
(E) Answer not known

USB erérrug -

Q) wefleunsd e?e;-,ms&}du Lné e
B) wels Elwe uev

©) wefleuirged FMwed Lev

D) welaisd wCLrGrg uréev
(E) | ellev Qg Mwelidene

91. Tiny specialized microprocessors installed in smart appliances and automobiles are .

(A) Servers
(B) 4 Personal Digital Assistants
\ Micro controllers
(D) Mini computers
(E) Answer not known
el e usFaThseT WHMIb W CLr
B&@TQswaser
(A)  gireuirser
B) uitsered 1gefl L6 a6
(C) mmé@un&eﬁnt_(ﬁunwr‘r&dr
D) Sefsbryr
. (E) o&flenr Qaflchidvene

AAOD/2021
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92.

93.

Degerming is done in - milling.

(A) Pulse
Corn
(C) Oil seed
(D) Rice
(E) ~ Answer not known
enar H&ESHD Sireauuern Cung pen_Gumib.
@) vy |
(B) Cegnerd

(C) eanQami gz
D) =nd
(E) &flen Qgflwelldvena

The rice obtained after polishing is
(A) o Brown rice
White rice
(C) Red rice
(D) Broken rice
(E) Answer not known

<ififleow Qu@Csphlu e SO 5865 Falquig.

@) ugoy oifé
(B) Qeudrener M&

©) Seauuy SM&

D) @meam Mé

(E) e&flen Gsflweilécvene

47
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hot air oven. -

94. The temperatui‘e required in vacuum oven is
(A)  higher than
(B) equal to
lesser than
D) (A and (C)

(E) Answer not known

Qaupdl.  @eerder Camaiu@w Qe  Heow,

248 Q@HEGD.
Q) =dlswrs

(B) swuwnrs

C) Gopaurs
D) A vogw(C) .
(E) oL Gsfluaddme

Qeuti sTHM @Gererws &9l

95. Thin layer drying ié limited to cm of grain depth.
A 40
B) 30
20
(D) 10

(E) Answer not known

Quedlu 2(&EE eofsgn weapuld

m&s Couampim.
A 40
B) 30
- 28
(D) 10

(E) ol Qasflweildweane
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96.

g7,

_ (b) fleurar

Match the following :

(a) Power tiller

(b) Sickle

(c) Power sprayer

(d) Seed treater
(a) ® - © (d)

(A) 3 1 4

(B). 2 4 3

T

D) 1 3 2

Plant protection equipment
Application of chemicals to seed
Walking type tractor

comb ol A

Harvesting tool

L= S e o

- (E) Answer not known

Epssam_cunenn QUTHSSS |

(@) weur e uurLuTSTIY FTsED
éﬁlmg,u&le‘m@msb @ rremueTiigemar LiLIL
BLBS QUEsSIURD g yréLi
SipeaimL& smedl

() weuir Qgefliiumer
(d) Gﬁ]@gemﬁgﬁ @awyb s@wefl

() (b) (©) (d)

ool

A) 3 1 4 2
B) 2 4 3 1
(C) 3 4 1 2
D) 1 3 2 4

(E) oflenr. Qsflwefdrena -

The process of placing the seeds in holes madegn seed bed and covering them is
(A) Broadcasting : v/);ibbl.ing :
(C) Drilling (D) Hill dropping

(E) Answer not known :

dlosiupsostle ghussiulL Gfsdls dostoa @UE aupon apGeis

2L(&LD.
A) &rop pepled uFiiyse - (B) &g eamermzd
(©) G]ﬂé_r,mj Aos@pssd D) sz AasuiLd

(E) cﬁ]ml__ Qsflwelldene
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~ 98.  The equipments like Perches, Trap nests, Roosts, Feed troughs are in regular use in
(A)  Sheep farm . (B) Dairy farm :
(C) Piggery farm W Poultry farm

(E) Answer not known

EDE@TL 2 LSTeIBISET erauppil 6 CSTLiTLenL wenel ?

Quits, Ly QpevL, EevL, i Ll

(A) Qs < G LT enT ' - (B) om U Ligimenamt
(C)  uend ueTENERT (D) Csmfu ueTenenT

(E) oJer Qsfwefdame.

99. The soak pit should be filled with
I.  Course aggregates

II. Fine aggregates

(A) TIonly
(B) - Il only

« Both I and II

(D) Soil only
(E) Answer not known

Qaligds CLsd@mps QeuelCumd sfla) Sy weanefld o flere ggeaunEd sfley Hi
GPlow SbssaT_aupner aamss Qarar®h Byl simwés Calmhibd.

I.  ehp Quilu sHaermed

B éﬂ‘ﬂm EHSETTE

A IwiEod

B) II wipw

(€C) Twi@Ewopll

D)  wewrewrmed wLED By

E) oo Osfueldame
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100. Intensity of problem is said to be ‘nil’/no problem’ if the chloride content in the
irrigation water is

(A)  >10meq. 1" (B) 4-10 meq. 1™
\l a1 (D) None of these

(E) Answer not known

@Cermang(h  Sweiullenr pEs eleuaTaUTE @HHSTD, Sips BflaT ST “@dDHS
clleneraysaner HUBSHID” UMBMIF FTHSS)

(A) >10meq.1™ (B) 4-10 meq. 1!

(C) <4meq.1? | - (D) Cupsar_ eaeeuw|b Qe

(E) oflenr Qaflweiicvens

© 101. Carrier material used in biofertilizers should possess following qualities
(a) Non-polluting | =

(b)  Non-toxic

(c) Bio degradable

(d)  High water holding capacity

(A) (a), (b) and (c) are correct ya), (b) and (d) are correct
(C) (a), (c) and (d) are correct (a), (b), (c), (d) are correct

(E) = Answer not known

2 Wit 295 swurflbe 2 uCuIsSLLESFILGHL &LESGWD G]urr@srr (Carrier) emmeu(mid
sanewaw Clareaig hés GCeauamEHb

(@) wrE gHUBESTES

b) pésssaramLLODE

(c) arafiléd HEGD FemanLou|ErL ILig]

(d) =ds Fibguysdmer Qaramr g

4)  (a), (b) wpmud () & B) (a), (b) wpmud (d) &l

©) (a), (c) wpmib (d) &f D) (@), b)), d s
(E) eflenr Gsflweiidvene
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102. ———— rating in soil is considered as low available Nitrogen status
(A) 280 - 450 kg ha-!
M - < 280 kg ha-!
(C) 118 kg ha-!
(D) 22kgha!
(E)  Answer not known
o aremfled o 3jerallé uuﬁ]@a;@') éé]sml_aaahmrm SMPESSS Q) (m&ELmule a{g]
@Gmg)mrrmg,rrasa S(HSLL(HID
(A) 280 —450 &l/eraLir
(B) <280 f/ersLir
(C) 118 fljersLnm
D) 22 f/asi
(E) oferr Qsflweldene

103. Which element is added as essential nutrient in the year 19877
(A) Cadmium
~(B) Chromium
(C) . Iron

M Nickel

(E) Answer not known

Gereumd spgisselleds ahs 55 LOMES wWsdwuwbnery erdamy 1987- %m 24,607 (h)

ufpgienrssiiu L g ?

(A) srBwb
B &Cymiwn

© @iy

D) AHsso

(E) oo Qzfwelcrened
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104. Amendment used to reclaim acid soil

105.

(A)  Gypsum
J Lime
(&) | Pyrite

(D) Sulphur
(E) AnéWer not known

e fosws fiHmss aps Fidnmsd (Amendment) ufbgorssiLESDs) 2

Q)  gHosn

(B) sawewrmby (Lime)
€) eum

(D) spssd

(E) efleni Gg,rﬂu_!aﬁlabsm.@.}

Pigment leghaemoglobin acts as

(A)4 Nitrogen carrier
J Oxygen carrier
(C) Nitrogenase activation

(D) Rhizobium carrier

(E) Answer not known

Qeo58GwnECarmiar Hplller QeudunE) cremar?

A) eplyner sLgd

B)  aysfigar aish

©) @ CrrhCansy Qewgrsd
(D) mg@&mﬁluﬁ &g

(E) oflen .@g,rﬂmaﬁlsbma}
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106. Coherant mass of soil broken into any shape by artificial means like tillage
(A) Fragment
(B) . Concretion
Clod
(D) Ped
(E) Answer not known
2 pa| ahfrhsmen’ LWETUHSHLSTO 2 (HeuTer LGRS, HETaHET 60T DHENLOLIL
erariL(HEmg).
A)  Sps @
(B) LD GRS M I}
(C) warslig
D) wvangsdasaflear GgmsEy
(E) ofen Qafluaierene

107. The average bulk density of the normal soil 1s
A 1-1.60 Mg/m?
(B) 2-2.50Mg/m?3
(C) <1Mg/ms3
(D) >3Mg/m3
(E) " Answer not known

Qurgieuns wemanfler LG 2iLTHE ereueiare) GQHEELD ?
(A) 1- 1.60 Qusr &/.5°

(B) 2 - 2.50 Quanr &/5°

©) <1 Qusr &/15

D) >3 Quwsar /.5

(E) o Gzflweildwane
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108.

109.

Vertical section of soil which represents sequence of horizons from surface to bed
rock 1s :

(A) Solium
Soil profile
(C)  Regolith
(D) Parent material
(E) Answer not known
wearenflerr Cuopu@Huledmpba Luman ey GeusuCoum iH&EGsMmeard CsmerrL WerTLI@S —
erariL(hEmg. :
A) wer D&
B) wa&r agamey
(C) wvwer WP&EGL urepls QurweT

(D)  umewp Qumgmer

(E) deor Osflwaidwena

The plucking interval of tea leaves during low or lean cropping period is
days ' '

(A) 5-—T7days
(B) 7-10days
d 12 — 15 days
(D) 16-18days

(E) Answer not known

- Qe safiar euarisdl Gopeurar stomsald assmar prisda QoL Geaefle Csullmaser

udlssLIuBhSng) 2

& 5.7 BITL_&eiT
B) 7-10 priser
(C) 12— 15 prisar

- (D) 16— 18 priser

(E) e Qsfuaidme
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110. The “Princess of Vegetative Kingdom” are

(A) Cacti .
({ Palms
(C) Ferns
(D) Cycads

(E) Answer not known

“grrsﬁ!)‘ 2 @éler Garaursl” aar S@PESLILEL SiPEGE CFgsar wrame ?
A) sdreflEFQagser

(B) LIGDGITLOI 66T

(C) swafls Qagser

D) yeurQegser (mesen CFgsar)

(E) eflen @z flweiidvency

111. The cactus fondly known as “Mother in Laws Chair” is
(A) - Cephalocereus
(B) Lithops
(C) Cleistocaetus
Echinocaetus

(E) Answer not known

“wmAlurt @méms” aar S@PEsILED saraNsQely. org) 2
A)  QeruGar@syen '

B)  S5Csmiian

©) deflevCrCasL_6v

D) a&dCamGasL e

(E) ol Gg,rﬂmaﬁl‘si)mm
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112. Tuberose is commercially propagated by

113.

(A) Corms
(B) o Suckers

J Bulbs
D)

Tubers

(E) Answer not known

aueflsffluns, sbund aaaury @eariQumssd Qeuwutiu@GEna ?
A)  seansdr

B) usssseTmser

© @dgnaa

(D) £lpmiGser

(E) ol Gzsflweldanen

Which is ideal vegetable for waxing process?

(A) Bhendi

(B) 4 Onmion %
(/ T_omato

(D)  Chilli

(E) Answer not known

EQSG&TLGU@@@T. e smusHuLdfled ‘Ceusalin’ (Waxing) @&H'_IUJDLJ@Q_LDQJ.?
A) Qeushren | ‘
(B) QGLIFE.I&;H’U.IL])-

C) sssnef

D) Heramu

(E) o&fenr @grﬂu_leﬁ}d)msp
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114. is essential for clear vision in dim light and its deficiency leads to night
blindness?
(A)_ Vitamin —‘C’
.[/ Vitamin — ‘A’
(C) Vitamin —‘E’
(D) Vitamin-‘D |
(E) Answer not known

Spsramib ehs el Liflar @G@purigemnd Osefleupn vmrieme
Cpmi Gumeary Gepur® ghHubSlerng '

A)
(B)
(©)
D)
(E)

el L Wler - ‘C
aeul_LWler - ‘A’
@aul_LWler - ‘K’

anaul_L e - ‘D’

e Qg flweldena

115. Which of the following is a salad vegetable?

Vs

(B)
(©)
(D)
(E)

Lettuce
Chilli
Brinjal
Okra

Answer not known

SsaTaudmIET 1g st STUSH ?

@A)

®)
(©)
D)
(E)

AAOD/2021

@evL_Beiv
Sl eramil
&5 rﬂeisa_srru'_!

QeueiTenL_&H& Ml

el Qzflwueidana
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116. Indian institute of Horticulture Research is located at

117

Ay
7
)
(E)

New Delhi -
Kolkatta
Bengaloru.
Mumbai

Answer not known

@pdw CarlLssemwe yrmissl flpeuand oewbadrer @l_fo

(A)
(B)
(©)
D)
(E)

Lgl el
Qaréassm
OlLimbig e
(pbenLt

aflent Qgflweldena

Find out the odd one in the list of containers

(A)
B)
(€)

(E)

Sealed tins

Aluminium pouches

700 gauge polythene container
Cloth bags

Answer not known-

Epsar_cupmier QuImHETE lens Callliy somar Caitey Qe

A) -

(B)
(©)
(D)

(BE)

epigw Qeudraflwib/s&7 Seer
Sig@flaflwl evuser

700 &M§h SILSH 2 6TeT GEMPLD SOETSHET
gienfl epuiseT

eﬂmlL_ Qs flwaildwena

59

AAOD/2021
[Turn over



118. Match the following :

(a) Paddy 1 Detasseling

(b) Red gram 2 CGMS

(¢) Cotton 3. GMS

(d) Maize 4. E.masculation and Dusting

@ (® (© (d)

-2 - 4 3 1
Wz 8

(C) 4 3 2 1

D) 4 2 3 1

(E) Answer not known

Qurmsgis : .

(a) Qpe 1. <yanadi Bésb

(b) seueny 2. @&G}Jmﬂ)‘i @Qﬁ:u_[ wrlwe b e Lol (S

FeenLo
(©) umsd 3.  wrlweé sribs e Lo HS gs&rémw
(d) wésrE Gererd 4. amnuy bésd wHHIL wETHED Ggefliiy

(@ - b © (d)
A) 2 4 3
B) 2 3 -+
(C) 4 3 2
D) 4 2 3
(E) el QpRueidema

O e

119. How many number of field counts (Minimum) to be taken for an area of 10 ha?
(A) b B) 7

d 9 (D) 10

(E) Answer not known

10 Qan eSlengs Li6iTenamTdhe men @'mm'[bg,u[_& auwe sarsSh (Field) eréucueray?
@ 5 | ®) 7

-9 : (D) 10

(B) e Qsflueldme
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120. The inbreeding depression in synthetic and composite varieties are

"~ (A) High
d Low
(C) Medium

(D) Very High
(E) Answer not known
Qsr@ss (‘Sersiys’) OHMILD usufsugé] LB (‘srdCuralll’) @Ershusafid o LsuUs
BMp&E eTiiig Q(H&ED
A)  =dswors @mésn
B)  Gopars @nésd
©) pHldawurs @méswn
D) Vs sdswrs Qmesbd
(E) &ler Qsfweicrena

121. The breeding tool used for commercial hybrid feed production in rice is
(A)  Cytoplasmic male sterility
Cytoplasmic Genetic male sterility
(C)  Genetic male sterility .
(D) - Hand pollination
(E) Answer not known
Apode aiflu @@ @rsmsd olas 2 puSSlEE Qu@poeareid o LCWITSLLESSILED
QgmPdmLr b erg)? : '
@)  edrenssafls gar Lol B samew (s GLmierrevifls Gud ev@ el i)

B  edyemsseils wrAwed 6T LaL@g gerew (e GLmlermevlls Cmeaflns
Gue evQLMedi i) :

€)  wrQwd e WL Hg geew (Qgafliyé Guoed Gl Medliig)
D)  essemme wayHsE Coisma QFwicug

(E) e Gsfweicrena

= : 61 : AAOD/2021
[Turn over



122. Mass selection is followed in the Crops.
(A)  Self pollinated
(B)  Cross pollinated
(C)  Often cross pollinated
Self and cross pollinated

(E) Answer not known

s (H&CsTey e aeieuams Llisaild GearuppuiLGE DS
A) ser warHsGaréms

B) : SjWwed wETHsCFTEMS

©) ScwauCurg wd wWarHsGsrsms

D) s, W wWaTHsGeTE®mS

E)  oferr Asfueidma

123. “Calvin Cycle ” refers to .
(A) Light Reaction j Dark Reaction

(C) Respiration (D) Transpiration

(E) Answer not known

‘Cadeiar sphfl’ aas GH&Sns)

A) qafisdflew ' B) @@weﬁlrﬂmu_g

(C) saundlisd : (D) Byred CunsGse
(E) e&ler Qgflwaeildensw

124. in thé direct substate for plant respiration.
; ! Glucose ' (B) Starch

(C)  Protein (D) Fat
(E) Answer not known

Qs seunssder, Corg 2sTr CeudGummar

A) GEsCarev (brey sT&E®Y) G (B) evLmitd (mey GQummeT)
©) yysuQumrmer . _ (D) QamupLiy Qummer

(E) ofen Qsfluefdoene ' :
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125. Ergot disease of Cumbu is caused by

126.

A)

Sclerospora Graminicola

M Claviceps fusiformis

©)
D)
(E)

Puccinia pennisetti

Helminthosporium orvzae

Answer not known

sy Lulfled “erism’” Crmi ergamme ehub Slermg) ?

A)
B
(©)
(D)

E).

a0 A CrrevCuiryr SymdlelCamer

éilmrr@ﬁl@&u_siv Gy HAumiiblen

Lsadlafiur Quarafl@et g

QaneilargeavGurflun gayGs

G)S]Gﬁl_ Qaflwalldene

Bordeaux Mixture was discovered for the control of

A)
(B)

D)

()

CuriGLr swme Spsar apbs Crraw sLHUUESS a;aiur@lﬁlqé;aauuu_g?

(A)
(B)
©)
D)
(E)

Rice brown leaf spot
Mulberry powdery mildew
Grapés' downy mildew
Cucurbits downy mildew

Answer not known

QAmé LUy Qe eTaf
we@uifl #rbue Gpﬁu’J
STl and g FFmbLied Crmil
et sjgdembue Gpmil
ellenL Ggflwaeilcrene
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127. Smut fungi in millets is
I.  Autoeccous in nature
II. Heteroecious in nature
III. Have systemic infection in plants
IV. , Infect inflorescence
\/ @), (I1I), and (IV) - (B) (@), dID) and OIV)
(C) (I), (I1I), and V) (D) (), (AI) and (III)

(E) Answer not known
snaflu vwlirsener gré@b MLy L yeand

L.  @m sraur eunpseans sphél Qarar. g

II. ue sreuy QUMp&EMS &ipHél @aarrsb‘aTL_g;J

I . ear(p@elluiLgeyd Crmig Csrheny o @ _Tés Fnigig)

IV. ymlsrsgsmer snéssemiq g

@ O, @D, wpgi> AV) B O, D) opg (V)
©) I, dII), wpmb IV) D) @), (0D wpmd (I11)
(E) dlen Qsflweldene ' :

128. Which one of the following is the rodenticide?
1. Phosalone
2. Warfarin
3. Imidacloprid
4. Zinc phosphide
(A) (1) and (2) of the above B) @) and .(3) of the above
w (2) and (4) of the above : (D) (3) and (4) of the above
(E) Answer not known _
Spssaraupdler erg eral&Qamaedser
1. SumevGemer
2. eumisufler
3. @ @GarmIfi
4. & Sureveru :
A @ LD;_T)QJL‘D (2) Cule 2 eTardled B) (1) wpmd (3) Cuwle 2 drerded
(C) (2) wpmd (4) CCa 2 crerde (D) (3) whmid (4) CuwlGa 2 ererdled
(E) ofer Qsflwelidvena ' |
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129. “V’ shaped cutting on coconut found is due to
Rhinoceros béetle
(B) Red palm weevil
(C)  Black headed caterpillar
(D) Mite

(E) Answer not known

QzenananuSleir Qaasalid V' aiges Cossdamar ghupssid ysé og 2
A)  srarLr Bms e
B) Aeuy smer cuaT®
O spps@e Y
.(D) Saonbd yFd
(E) dflenr Qafwelerenew

130. Pheromone trap attracts

(A) Female bugs |

(B)  Caterpillars

(C), Female moths
Male moths

(E) Answer not known

QuGrrGumer Qurhl ereng G D) 2

(A)  Quer Lsav

B)  swueluysdser
(€)'  Queawr sipgLysssar : : . \
D) e wpgLysfsdr

E) oL Osfucioma
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131. The worker bee 1s a

(A)
®)

D)
(E)

Fertile Female
Drone

Sterile Female

Sterile Male

Answer not known

Ceauenasary Gaen eratg -

- (A)
B)
(©)
(D)
&)

auaronar Quain Gaef
euaToner e GCget
el Guuer Csef
oL () e Coet
eflenL Qg,fﬂu.léﬂld}@eu

132. Which one is called as Queen of Oil seeds?

(A) Groundnut
(B) Mustard

(C) Sunflower

,M Sesame -
(E) Answer not known
§Cp Qsrhssuul (pédrer et GramblenTil -
SMP&&EILHE DS ?
A) fHoss e

® 66
©) @Austpd
D) erar
(E) e Qsflueidens
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66

RREY:S

_uuﬂll‘r&'aﬂéﬂ

Fmessl

Gretr



133. The first Indian dwarf rice variety is -

134.

(A) Jalapriya
(B) . Basmathi
Jaya
(D) Kasturi
(E)  Answer not known
@nSwireile Qeuafudriuc L ws® GLa @rs Cmd 2 GLD
@)  geafur
0 ek
©) Qgun
(D)  sevgrf
(E) oflen Gsflwaivene

The quantity of urea to be applied for one acre of rice crop where the fertilizer

recommendation is 120 kg N/ha

(A)
(B)
(€)

(E)

180 kg
60 kg
120 kg
104 kg

Answer not known

@@ CansGLi ApouuiifisE 120 HCar sapssss GII'GBT}D SleTelled @ FEEMESE QL
Caeneuwner wllwmellenr iere] ereuaiera]?

(A)

- (B)

©)
(D)
®)

180 &.4

60 £.4

120 6.8

104 4.4

aflen. Agflwaidena

67 AAOD/2021
[Turn over



135. Which of the following insect is used to control parthenium weed?

Zygogramma bicolorata

- (B)  Crocidosema lantana

(C) Dactylopius tomentosus

(D)  Neochetina eichhorniae

(E) Answel_r not known

umigdeflwib EGDGHUS]GHJGDT s_(HUu@Ss Spasremibd ahs LFfuland Lwueau@ssuuEns) 2

(A) essCardlybior evussCarnGriLm

B) GCyrACL_ndlor QOGTL_ T

(C) CLsyCamiwev QLroarGLrsen

D) HCwrdliyerm mssTiaflGus

(E) oo OzsMlweldeme

136. Which weed species act as an alternate host for blast disease in rice?

d Cyperus rotundus

(B) Echinochloa colona

(C)  Cyperus distans

(D) Lentochloa Chinensis

(E) Answer not known

Apeeled oo Cpriuse wrpy 2 emeit Ll (<) wrHy ebU@lurs ermigb smer
6Tg) ?

(Ad) esugev Crrierev

B) a&8CansCarns Qameonar

(C)  esurev GLL_6iT6

(D) QauCLreCernma amsarerdlen

(E) &l Qzflweildvensd
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137. Drip Irrigation efficiency can be to the use of

(A)
(B)

o

(E)

50-60%
60-70%
90-95%
95-100%

Answer not known

Q&m_® ﬁr‘r ungargSlern LweTUm () Hpebr

(4)

®)

©
((5))
(E)

50-60%

60-70%

90-95%
95-100%
eflen_ Qs flwelerener

138. Which form of water 1s called “free water”?

B)
©)
D)
(E)

ahg algel B “slger B aar emwssiuBEDg)

(A)
(B)
©)

D)

(E)

Gravitational water
Capillary water
Hygroscopic water

Crystaline water

- Answer not known

yadlritiy eflens Bir
maTgienar Bir
FFIIL'.IIJIGE)E Bir

vefliig Hir

e Qsfweidama
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139. The weather chart that shows the places connecting same atmospheric pressure is
(A) Isotherm
Isobar
(C) Isohyte
(D) Isotach
(E) Answer not known

yed auayuLgdle @Gy smpMer 2issD 2 drer QL hismar GHLIEGeg
Q) pCsr@sib : '
B) g@&rfurrr’r
(C)y gCsrenam-
D) gCeriné
(E) ol Gzflweildvena

140. Ths lines connecting points of equal wind velocities is called

Isotech
(B) Isoster
(C) Isodemic
(D) Isobar

(E) Answer not known

Fio srHdler Ceussams Qaans@h Yarals Car@aaflear Guwit GTemeT?
A) glanlLs

B) HCsrev@Li

(C) gCer@LLll&

D) »Casrum

(E) ofer Gsflweildena
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141. Total cultivable area in India is : m.ha.

(A) 1348
(B) 1358
M 143.8
D) 1538

(E) Answer not known

@pdureder Qurés snEug By WeveSlwer QamsGLir.
(A) 1348 | “ -

(B) 135.8

(C) 14338

(D) 153.8

(E) dllen Gsflwalcrenew

142. When was National Forest Policy announced?

(A) 1962
B), 1976 -

j 1952
(D) 1958 :

(E) Answer not known

Coflu auansGarerens DifefEsIILT L @@ TGl ?

A) 1962
B) 1976
(©) 1952
D) 1958

(E) &feor Qaflweildvenay
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143. Which tree among the following is an ideal tree for wind breaks?
h (A Eucalyptus
J Casuarina
(C) Polyalthia

(D) Pungam
(E) = Answer not known

sTHNS SELUY wrkseTsl LwaTUedd Spssranib ] emsaseld ehs wrd Wsajb
TOOS ?

(A) ese Wb

(B) seys@© wiyd

(C) Qpledlis wirb

D) ymser wyb

(E) olev Gsflueidrensy

144. Coconut based home garden is/are.found in
I. Kerala ;
II. = Tamil nadu
III. Rajasthan
(A) Ionly

- (B)p IIonly
'L/ I and II only
(D) 1Iand III only
(E) Answer not knowh

Qgeenar grihs il D& Ggrrl'_l_réjesd'f sreerLEID @)L Lb/@)L RigseT

1 Caryarm

IL  s8pprEH
III.  grggevgmer
A) ITwiEo
B) IIwi@Eo

(C) I wpmd II wr @b
D) Twpgiw T o Gibd
(E) ofleor Qsflwaelevene
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145.

146.

147.

Which of the following is correctly paired?

(A)  Silvipastoral agroforestry system - Home gardens

(B)  Agni silvipastoral agroforestry system — Protein bank

(C)4 Farm forestry - Mixed forestry
d Recreation forestry —  Aesthetic forestry
(E) Answer not known '

SpsarLeupmidt flwns QuUTBSSLLL HdTer Qe erg)? . =
Q)  @eeeu youriy Geauermar s L b — eI (g Cam L miser
(B) Geuermer apédenevls LebLIFLIL

Geuermeir euargdlL L b S 4rs eumidl

(©C) veaweens sTlSET - SOUILSG ST[H&eT

D) Qumyg Curé@s sr@ser - S WI cuanhIGET
(E) oler Qsflweidene :

250 — 300 m? ~(B) 300-350 m?
(C) 400 - 450 m? (D) 450 —500 m?
(E) Answer not known '

Si?e of farm pond per hectare of area is

@@ QansGLir um;rzumaﬂr_i)fﬁa;,_rj),m UeTeneants (&L enLuller L
(A)  250-300 .8 (B) 300 - 350 8
(C) 400 —450 8 (D) 450 — 500 8
(E) &l Qsflueidama '

Select the crops which serves as vegetative barriers against soil erosion
i Vetiver

II. Agave
ITI. - Cenchrus grass _ :
(A) I and II only : (B) . I and III only

(C) II and III only I, IT and III
(E) Answer not known '

e yflorarsms 5068 ey shrurems LwauBb Llismer Csia) Qauis.

o= Qeut_ig Geurr

II. &gzmeny

-k G]a;n@ésas:;ml; Y
A) I wpmbd II v @b (B) I wpmw IIT wi_ @b
(©) II whmw IIT b Eb D) L II wpgd IIT

(E) &lenr Qzflweildenew
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148. Match the following and select the correct answer

(a) Broad beds and furrows j 5 Formed in between rows of crop
(b) Compartmental bunds 2. Small pits on soil surface

(¢) Dead furrows 3 Effective in black soils

(d) Scoops ' _ 4 Convert the area into small blocks

(@) b)) -@© (d)

A 1 2 3 oo

B) 2 o B 4

(CL 4 3 1 2
'J 3 4 1 2

(E) Answer not known
Wemeumeuaraipenpls Qummsd sflwrar e CaibbsH&Esa)b

(a) <sarn UTSSH HMID FTed ; & vuirsEnsslenLuled Fred emoaug)

b) uEd 2wy 2. werr Gupuydd fn @Waer

© @puy s 3. smUY weremihE ghHngl

(d) @EoLey 4. urtieou A Hg ugdHwurs GAGug
(a) (b) (© (d |

A) 1 2 3 4

B) 2 1 3 4

C 4 3 1 2

D) 3 4 1 2

(E) oflen Gsflwaelerena

149. Match the drought terms with their relative explanation

(a) Permanent drought 1. Arid and semi Arid zones
(b) Seasonal drought 2 In adequate of H20 to meet ET
(¢) Invisible drought 3.  Agricultural is not possible
(d) Meteorological drought 4 Annual RF is < Normal

‘ (a) (b) (© (d)
3 1 2

4
@ 13 4 2
©) 1 2 3 4
D) 4 3 2 1

(E) Answer not known

aupl A Hlevawsmer 2 flw aflaréasCar® Qummsss

(a) Hpbsr eupld 1. gfl whHmb LuEH gl e
(b) u@meu aupl & peluneughE uHDIGGmpwTar Bir
() yearHn/CQgfung Gu_r_m_eﬂ Gouarmaiirenin QUi 66

d) euraflene eupL & e gynafl a6l Gmpay
(a) (b) (© (d)

3 x| 2

el

(A) 4
B) 1 3 4 2
{ ) - 2 3 4
D) 4 3 &5 1
(E) ollen Gsflweiereney
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150. Area under dry land agriculture in India is

151.

(4)
(B)
©)

(E)

@pSw wrerreurflls uaTenearTw Bl LTy

A4)
(B)
©)
D)
(E)

40%
50%
60%
70%

- Answer not known

40%
50%

- 60%

70%
ellen Ggfuwelicrenc

Central Research Institute for Dry land Agriculture (CRIDA) is located at

A)
(B)

D)
(E)

Chennai
Bengaluru
Hyderabad
Trivandrum

Answer not known

cuperL fleo Geuermar wsHws o rmisdl Hipeuard (CRIDA) wewbgdrer @Lib

(A)
B)
(©)
®)
(E)

QeeTenar

QLimigeen(m

BSTTUTS
Seasenpsumd
eflen Ggflweldene
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152. Desi fowl with black colbr skin and feathers

A)
®B)
©

(E)

Naked Neck
Chittagong
Aseel
Kadaknath

Answer not known

snuy Hp Cered whmb @p@smads Qanar. 2 6 pri( Camfl Garbd

GV
B)
©
D)
(E)

153.

B)
©
@)
(E)

bregding season.
J Flushing

@néloens swWss ums
AL LsmhiG

< Fled

&LMEBNS

e GgMwaeldene

is feeding of extra concentrates to ewes, 3-4 weeks prior to onset of

Eyeing

-Ruiging

Tagging

Answer not known

Quem Qsbwd wEHEEREE Qadumss sTwsHDE 3-4 MIESERESE Wendmbs

SSlsLiLguirer SjLi§euarid CasrHi&sLILHiD oD Greu
DD P&E&ILHEDS).

A)  Sleregadinis

B) Swling

©) mWdmus

D) Lrdué

(E)

AAOD/2021

afleni_ G]Ig,rﬂu_teﬁ]d}a)sn
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154. Crepitus swelling in hind quarters which crackles when rubbed 1s noticed in one of
the following disease

(A) Haemorrhaglc septicemia
(B), Anthrax

J Black quarter

(D) Foot and mouth disease

(E) Answer not known

Cais@EbCurg @mLoruGurrsm&ml_.suT Gﬁasa;u) orliger gueUl ugHuld by Crmude
&meurLt L (LD

(A) G'e_r,rrsmmi.__aml_uurreﬁr

B) psTTEED

©€) smrsiGamu / sty Grmu
D) Gamorfl Crmi

(E) der Gsflwefdvena

155. An example for viral diseases of cattle is

(A) 4 Anthrax
M Foot and Mouth disease

(C) Haemorrhagic septicemia
(D) Black quarter

(E) Answer not known

pésuflsearmed LIRsEREE Thu@L CrmisEsss R 2 STTRTOMGLD.
A)  psgrEen

B) Csmorf Crmi

(©) Ggmm@dg]éa Q&g Fblwir -

D)  smuy stHuEd Crmi

(E) der Gzfweidreney
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156. Milk is deficient in
(A) Calcium

(B) @ Phosphorus
'(/ Iron
(D) Vitamin - A

(E) Answer not known

ureléd GugLrar SjeTey @OOTSS
(A) sawenTTOLE F58) .

B) veafl& s55

©) Qmous 555

(D) 2\réss8 — o

(E) &len Qgflwelldvancw

157. The hormone required for maintenance of pregnancy and the organizer of estros
cycle

(A)  Oestrogen
(B) Oxytocin

(C) o Prolactin
(J Progesterone

(E) Answer not known

uarr@a;bﬂsb fevars  LmaGMS BoLPoPUOSsD,  QaruQumss  spHiaw
SeLUILTETTE @) Mm&@EL anmiGomer

A) e Crmeger

B) <sallGLrdler

©) yCyrensiger

(D) . yrGsgev_Gymeir

E) oL AsMweddma
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158.

159.

The largest dairy breed of cattle is

‘(A). Brown Swiss

J Holstein Friesian

(C) Jersey
(D) Red Sindhi

(E) Answer not known

Blau Quilu 2.6 ey Qasrar. spame LTE @and 6rg ?
) et wdids e

(B) Cammévaviger 1AM&wer

©) Qgid |

@) &suy apd

(E) &lenr Qsfweldvene

means elimination of old and unproductive animals from the flock
(A) . Weaning
(B) ,Selection
Culling
(D) Breeding

(E) Answer not known

ugnar HNIL @TUsSTIOOTS aflekiGsemar m@mg,uﬁleﬁl@p@ QeuafiCupmid Hapains

erer Gluwii.
A) Seflm
(B) GCsitey
(C) s

(D) @arutumésd
(E) &flen Gzsflwelerenew
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160. The active form of Vitamin Bg is

(4) 1,25 Dec
PLP

(C) NAD

D) FMN

(E) Answer not known

enaul_LiBler Be-air Q&wed euigaeunmans)

A) 195 Do
B) PLP

() NAD
©) FMN

; (E) cilen Qgflweildane

161. One of the following is not a sweetner
(A) Saccharin
(B)  Aspartame
Lecithin
D)  Polyols

(E). Answer not known

Qaupmier @efluyl G ueaTubHD QuTmeT 6rg)?
A) enssher

B) evuriGLibd

(C) QaflgHer

D) ureGumé

(E) &eor Gsflweildeme
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162.

163.

In which state the Gulf of Mannar Biosphere reserve located?
(A) Gujarat
(B) . Kerala _
Tamil Nadu
(D) Karnataka
(E) Answer not known

LOGITGTTT UEDETELIT GT[hs m&ﬁmg;ﬁ@ DI DHG) STETF) ?

A)  egis
B) Gayerd

- (©)  s0pprH
D) sipr_sb

(E) dfleor Gzflwueideame

Biological equilibrium is equilibrium amongst

(A) Producers and Cbnsumers

- (B)  Producers and Decomposers

~ (C) g Consumers and Decomposers
J Producers, Consumers and Decomposers

(E)  Answer not known

2 Wiflwe swhlene eramug

A 2 pusd Geuiume LHYD FsEBU@EH®L_WKorar soflame |

B) 2pusd Qsiuemer whHmb Hamsey QsiiLmass @ ularar gwblene

©)  meGue bHnb Hose; QeiiLmausSem Gorer Fblae

D) 2pusd Qeiueme, BamU®a WHNIL SHasay AelumelsE @ wlorear swflaa
(E) G}':'I]GDI_-Q(Q')rﬂU_IG)SIG'DGD')GU _
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164. (I)
(I

@
®,
D)

®

o
a
@)
®)
©
)
®)

Critical area (or) key area i1s a part of home range Where limiting habitat
resources are found

The Management of critical area or key area within the home range of a
wildlife population is not an important part for wildlife managers.

Both (I) and (II) true

Both (I) and (II) false

(I) true and (II) false

(I) false and (II) true

Answer not known

QUL bguerer  (Home range) wé&dwun ugdseiieo (Key areas)
auaupdsiul L eumpellL eueThiger srawtubhidlemar.

auanaflefiugsafien eumpeugbilgiarer wpédwl u@dsaflar Goerarenw, uariuEs
Cuereriseiar @@ paHlwiwrear Lenlwee

(I) wogibd (II) &M
(I wombd (II) seum
(D) &M (II) geum

(D) seugy AI) &l
e Qg flwaildensy

165. For higher rate methane generation is biogas plant the ideal temperature is

(4)
®B)
©)

(E)

15 - 19°C
20 — 25°C
26 — 30°C
Above 35°C

Answer not known

e arilaumys seaflld ofs sare) BsGsar 2 pusdwurash@ esps Ceulublae

(A)
B)
(©)
D)
(E)

AAOD/2021

15 — 19°Q & Huwiev
20 — 25° Qs@Awev
26 — 30° QaevHlwev

' 35° Qedvdlwen G

aflen Ggflweildene
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166. Operating efficiency of basin type solar still is %

167.

A 10-20
B) 20-30

d 35 - 50
(D) 55-175
(E) Aﬁswer not known

 Cuéler auens & flw perafyraduder Qswou@n Hoer swomt &5685LD.

A 10-20
(B) 20-30
(C) 35-50
(D) 55-175
(E) &fenr Qzfweldene

L

Minimum wind speed required for generation of electricity through wind mill is

(A)

©)
D)
(E)

25 km/hr
10 km/hr
15 km/hr
5 km/hr

Answer not known

sTHpree aped Weargryd swrfléss .Ggmmuﬂl.rrm G@phsULs srhdler Ceustd

A)
(B)
©)

- (D)
E)

25 &.18/wen
10 &.18/wenfl
15 &.8/wenf
5 &.5/wewf
eflen. Qs flweldena
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168. The moisture content of the vermibed for vermicomposting should be maintained

around

A) 20%

B) 40%

tdf’ 60%

(D) 80%

(E) Answer not known

ey 276 swrflidd u@smsuler rriugbd absere] @ mes Ceuar@ib ?

A 20%
B) 40%
©) 60%
D) 80%
(E) ol Gzflweildvame
169. Sugarcane frash can be easily composted by adding inoculum.
Fungi : -
(B) Bacteria
(C) Yeast
(D) Actinomycetes
(E) Answer not known
amby Carenseanwl smyentil Qurmer Casmer() &FOULDTE 10&S eusSaTLD.
Q) yerETaTRISET
B Cusicfiur
(C) rmevl
(D) a&q.@mﬁmm&'_du
(E) dflen Qzflwellerenew

AAOD/2021
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170. What is the minimum genetic purity standard for foundation seed class?

171.

- 4)

©)
D)

(®)

98%
99%
99.5%
100%

Answer not known

ey g 2 HusHEE Comeauwnar Gophs UL s @Gsrg,gnu'_lsm@ syHlena erelcuaTay?

)
(B)
©)
®)

E)

98%

99%

99.5%

100%

eflen GAgMwelidena

Harrington Thumb Rulé says that
doubles storage potential of seed

(A)

©)
D)
(E)

anmflii_er effuller Lig, _
Calliy Smener @i qliLmd@Slemma).

(A)
(B)
©)
D)
(E)

o

10
12
15

Answer not known

5.
10
12
15
eflen. Qg fweildvene

°F decrease in temperature nearly

urgeradl. Qeutiuflene Gepriuners elengufes

85 ' : AAOD/2021
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172. Who discovered the 15t CMS (Cytoplasmic Male Sterile) line in Rice?
(A) . Professor M.S. Swaminathan

J Professor Yuan Long Ping

(C) Professor SS Virmani

(D)  Professor C.T. Patel

E) Answer not known

Ope Lo Sa mmgjg@@mq afl e LIS Sa@wew WS  WPHEld
sy sseut wni 2 ' .

(A)  Guyrlflwr erb.erav. seumdlprgen

B) GuyrdfAwi weurer e Gerh

(©)  GuyrAfwi ereb. erab. cliome

(D)  Guyrdflwi H.g. L CLed

(E) oflen Qzflwelldveney

173. “Jagannath’— Paddy variety developed through.
(A) Plant Introduction
(B) Mass Selection
(C)  Pedigree method
Mutétion 'breéding

(E) Answer not known

‘Cgsdranms” Gpad rab e maursslulL @aGumEs e
A)  epsiu@ssiul L gsb

B) g5 ufls Csoiiey

©) oppd auflsCsiia

D) R wrHD e

(E) oflen Qaflweféensy
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174. Aphids and scale insects can be effectively managed by the release of

(B)
(©)
D)
(E)

Chrysoperla carnea

Trichogramma sp
Platygaster sp

Cotesia glavipes

Answer not known

g&eilenfl wHmid Qedléd ysflsamer Aptiuns s HLLESS aaipern GQeueluiL CeuamHib?

A4)
(B)
©)
(D)
(E)

SeorGer@urer srieflum

g y&ECasTsl Jom

Germiig CaevLit

Qam_yHwur Gerrelluien

cAlepL_ Qg flweildene

175. Which of the following is not a biocontrol agent

(B)
(©)

D)

(E)

Rhizobium

Trichoderma

ITrichogIamma

Ampelomyvces

Answer not known

Wemaumeuareupmier ergl e 2 udlTharadel e ?

(4)
(B)
(©)
®)
()

agGamSlwib

g y&GaETE Lo

gy eny&Cardlybom

T A TR € I 2o0)

ellenL. Qgflwaidena

87
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176. Motivation which generate from an artificially induced incentives like Krishipandit
award, prizes and certificates is .
(A), Informal motivation (B) - Formal motivation
Extrinsic motivation _ (D) Intrinsic/Self motivation
(E) Answer not known : ;

Apps feusmul ellmg, uflaser wHmb erarigpser ppod QFupamswns Gewudyfiu

granbeusg)
(A)  splrsmwllder gremmHse (B) esnlysmw greaw@se
(C) QeuefluenLwiner grer(hsed D) edraflmppCs grewrBgen

(E) _mﬁ]ml_ Qg flwelildene

177. Find the odd one
(A) Method Demonstration
(B) 4 Group Discussion
Farm and Home visit
(D) Study Tour -
(E) Answer not known
WMereumeuareupdled QumpbasTsms HéEs.
A)  Qewéwen afarésLd
B) ©Gw ez
(C) ueamenen wHMID SH&EHES Ceoaisan
(D) so6ls sHmer |
(E) &len Qzflweilrene

- 178. is a systematic display of models, specimens, charts, posters etc., in a
sequence so as to convey some significant information (or) idea in an easily
understandable way?

(A) o Bulletin Board (B) Flash cards -
' Exhibitions == (D) Agricultural Games
(E) Answer not known '

efeugmub Qgriiumrar, wrHfsdr, eerULKLSE, NOESLULLRISET, LML BISET.
saulyriyser Cureatpenes merg FH LG S@maeumd aaflifd LwaT@umb euaTaTDd

MEUSEILIL Ig(H&SLD. ]
(A)  Qewdll vemsser (B) Bleandd o eLaar
©€) smsmssm sl (D) efeusmuibd smiBs eleverur Bser

(E)  &flevr Qpflwelcrenew
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179. Which of the following organization is not a member of NAFED (Natlonal Agrl.

180.

Co-operative Marketing Federation)

(A) NCDC
(B) TANFED
(C) RAJFED

9 ApEDA

(E) Answer not known

Spaud ehs @@ smwuurarg Csflu Ceetrar sl (De] SikSTY &l L el
shssslen 2 mrideri @deame. :

(A) NCDC
(B) TANFED
(C) RAJFED
(D) APEDA

(E) dfen Qzflweleena

: want the marketing system to purch_ase their produce without loss of
time and provide the maximum share in the consumer rupee.

(A) Consumers
(B) Middlemen

(C), Government

J Producers (Farmers)

(E) Answer not known

ShsdT 2 pusdl  QummpLseer ApLiar SIOLUIUTATE ST
sroglléoanod eurmdls Gsmarer Geuam@d eramayb, H&TGauTT almaule dsul s
Asrens Geuamm(Hb eramayd @ll(mLbLLIGUIT.

A) meiGeauni

B) QoLssysiser

(C) | élq&n@asm

D) epusdureri (efeusrulser)
E) deor Asflweiwame
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181. National Rural Livelihoods Mission (NRLM) is also known as

@

(©

(D)
®

Annapurna
Aajeevika
Anthodaya _
Annalakshmi

Answer not known

NRLM eréirp Csélw sarjs cumpeunsny @dléGsner LafgHiLib

PlutiuGdpg.

A) e iam

@) agbiidar

©) serGsrgun

D) iamaraay

E) oflerr ApAwefldme

182. - FSS are financially sponsored by

A
B)

(D)
(E)

efleusmuilser Ceeneu srismsafier (FSS) epagasdleo umsealiiug

(A)
B)
©
D)
(E)

AAOD/2021

RBI

NABARD

Lead Bank

Central Government

Answer not known

RBI

NABARD
peanGanmg. eumidl -
SHW 278

elenL Qg flwelerens
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183.

184.

Payment made for the use of land is called
(A) Interest
(B) Capital

(E) An.swer not known

flogams vwauRsHwusnars QupriL@h Larsder Cuwim
@ e |

B)  pssH

©) &

D) anms

(E) ol Gzflueiaame

is the Back bone of India.

(A) Industry sector
(B) Service sector

Agriculture Sector
(D) Marine sector

(E) Answer not known

@pSundiar wg@sgivy
A) Qsrflé e

B) Cewas gep

(©C) efleusmus gienm

- (D) Ser euansgIemD

(E) dflen Gzflweiicvenay
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185. In a Powerpoint Presentation,

feature helps to create descriptive text

assqciated with each slide.

B)
(©)
D)
(E)

Notes page
Hints
Hyperlink

Slide Description

Answer not known

veuumier’ GysenGLagafle, eeubeun(
2 (HeUT&E 2 5@ SiDEFD

(A)
(B)
(©)
(D)
(E)

186.

Copm_ev Gugy

el _aiv

@I 6olnkis
Gena ([ g6l flCiager
ellenr Qg flweildena

A

B)
©
)
(E)

E-mail or Electronic Mail
Mailmerge

Messaging

None of the above

Answer not known

dvere(® GsriyeLrw oflatés o emyenwl

service is used for exchanging messages through a computer network.

sanflafl QL Qeurs epad Qeudasamer uflibmhls Gsrear@Epb Wem

(&Y
®B)
©
D)
(E)

AAOD/2021

@)-Qwuller veg eresyreis Quuied

GoudlerGlioirgy

Qs

@eupdléd eTgie b @wene
cllenL Qg flwaldene
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187. Which of the following operating system support Mobile Devices?

(B) Linux
(C) BOSS
(D) TUNIX

(E) Answer not known

Aereumd @uwss Sienwliysai G}mnmueb-&ngwr_massmm 2 sMliLg erg ?

Q) AearGmev 7

B) Sarsev
(C) umev
D) wyealse

(E) dleL Qsflueidama

188, is a software that allows users to create, edit and print documents.
(A)  Electronic spreadsheet

(B) Editor |

(C) . Word Editor

M Word Processor

(E) Answer not known

LWeTT&EET  euemmusemaer 2 (hauréselbd gmsseyb wHmib AFfLa)b A@IndéED

Goe@uimmer 2GLD.
A)  dereran eNfgmer
(B) udlCiLmesr

(C) Qemed uFimerr
D) Qerer Qawed
(E) dleor Qsflueldreren
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189. 1is a software that has been permanently written onto Read Only
Memory (ROM).

(A) Shareware

(B) Freeware

(C) Crippleware

M Firmware

- (E) Answer not known

aurdflly Hlevameussdled Hlybsrons erpstiumn Goeartlummer — GLD.
@)  udiQunger ' |

B) @oas Qua@urme

C) @pLés Qun@mer

(D) Hleew@ummer

(E) &l Qsflweiidvenay

190. Which of the following is not an Printer Types?
(A) Dot-matrix Printer
(B)  Plotters Printer
Joy Stick Printer
(D) Laser Printer

(E) Answer not known

Wer aupeuareudPledr g&lt QU cuamsser @OOTSH g ?
A) oLt CGol Ay &snQumd

B) NYeriiie siFsLGQUTH

(C) gmu evgs &&LCGLTH

(D) Cosir s&s0QUTH :
"(B) efeo Qsflusddma
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191.

192.

is not a permanent grain storage structﬁre.
(A) Godown
(B) Silo
(C) | Grainbin

a{ CAP

(E) Answer not known

SpeumeuareudmIaT Qern HybsT grrsuﬂu_l Cauflliy ianwLiy @G‘u)smeu
@)  Aue |

B) @sGonr

C) srallws @i

(D) Cuagenp mﬁ)ng SDTSHET SiELOLIL

(E) &feor Qsfweldeame

Pulses contain % protein by weight.

A 5-10

(B) 16— 1
- s

(D)  More than 25

(E) Answer nolt. known

LI(BLIL euenadaried % LysLb (TenL IieaTe) 2 drang).
A) 5-10

B) 10-17

© 17-25

(D) - 25— Cwe
(E) oo GQsflwelerenew
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1938. Onelof the following equipment is compulsorily seen in ‘Modern Ric.e. Mill’.
. (A) Destoner
d Rubber Roll Shellar
(C) Parboiling unit
(D) Paddy seperator

(E)‘ Answer not known

peiar oiflfl eyamauie @hs Qubdrb sl Lmub sremrliu{ib
A)  gevCLmar
(B) U]LJLHT Crrév Gageveoi
._ (C) umrum@ein wpefl | .
(D) Qped QMALLmer
@ chier QuRuiciiaes

194. Rice bran from raw rice contains % of oil.
15-20 '
(B) 25-30
(C) 32-40
(D) 45-50

(E) Answer not known

ugefAWdmBHg QU@L el iged NS eraTEenTil 2 6rerg).
A) 15-20 '

B) 25-30

© 5240

D) 45-50

E) e Osfweddaa
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195. Moisture content of grains can be determined by any one of the following methods

196.

(A) Dry basis and wet basis
(B) Direct and Indirect method
(C) o Equilibrium method

Both (A) and (B)

(E) Answer not known

sraflunisaler FrLLsD s&T_Hlu, Spssamaupde ahbs weapamar e (hsemd

(A) 2oif LHYIL FroTeT oy luamiuded
B)  Cprg wpmid wePWPS WP pa6T
(C) swflavae gpepsar

@) (A) wppid B) GremGid

(E) &l Qzflweldena

Moigture content of the grains is measured by
Hot air oven

(B) Microwave oven .

(C) Mulffle furnace

(D)  Air heater

(E) Answer not known

sreflunseafler FrLLSSMmS Qarer(® <iHlweid.

A) Qeaius sthmy 2 eisd
B) pensdi 2 wis

© =8 Qauiu SEUY
D) sty GLTsd

E) Ao Qsfuaiome
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197. The place where feeding and milking sheds put up together is referred as
(A) Loose Housing barn
(B) Opeh shed barn
Stanchion barn
(D) Milking shed
(E)  Answer not known
@ns Qs Qsrupeusdler uasseT sSRGEGID, Ut spULGDL @Gy QL gdld
- peLCundng '
A) serips uGHWD SmwssLILL([HeTar QFT(peuLDd
B) Hpps Qeuell Asmpeud
©) Gpr aufleng Qg mpaeuld
D) ume spsEL @D
(E) ofleor Qzsflweiidvena

198. The farmstead area usually varies from of the farm area.
3 to b percent I.
(B) 5to 8 percent
(C) 5 to 10 percent
(D) 3 to 10 percent
(E) Answer not known
uaneamenller Quwrss uFlueTedld UTMmen &L(HLTATEGE assmar 560850 QHES
Ceuar(b ? :
A) 3-5szaldflgbd
(B) 5-8szaidlzd
(€C) 5-10e&saldlz0
D) 3-10 s5a950d
(E) alen Gsflwaicwane
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199. The Standard PTO speed recommended by ASAE is

)

©
D)
(E)

ASAE -<é ufisgierssiu@n PTO efer srsstGriun® Geustd

(4)
(B)
(©)
D)
(E)

500 = 10 rpm
540 £ 10 rpm
600 £ 10 rpm

- 640 £ 10 rpm

Answer not known

500 *+ 10 sppsser/HOLsH0 s,
540 + 10 sppiéser/HOLsH0@
600 + 10 sppisser/Hill_sdbe
640 + 10 sppisssT AOLsH0e
allen Gsflwelerenc

- 200. In Four stroke engine, the inlet valve is opened in

(B)
(€)
D)
(E)

Suction stroke
Compression stroke
Power stroke
Exhaust stroke

Answer not known

prang eise spm aepdlafie snhn Qseh arde Hpsd®asEn How
GTen Samuu(Hib.

A4)
€2)
(©)
D)
(E)

2 MlEp&HD ei&a
S(WPSGID eS&s

&8 ei&a
QeuafiGupmid eiFs:
ellenL_ Gzflwaeildene
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